APPENDIX - A

BIRLA INSTITUTE OF TECHNOLOGY AND SCIENCE
DEPARTMENT OF HUMANITIES AND SOCIAL SCIENCE

Investigator: Miss Divya Dosaya, Doctoral Student, Dept. of HSS, BITS Pilani,
Rajasthan

In order to participate in this research study, it is necessary that you give your informed
consent. By signing this informed consent statement, you are indicating that you
understand the nature of the research study, your role in that research and that you agree
to participate in the research.

When filling out questionnaires or answering the questions asked, you may come across a
question or answer choice that you find unpleasant, upsetting, or otherwise objectionable.
You may also feel that you have performed poorly, but there are no right or wrong
answers. We seek your honest responses to the questions. Your identity and responses
will be kept strictly confidential and will be used for research purposes only. You will not
reap any direct benefit from participating in the study, however, your participation will
contribute to research.

Please consider the following points before signing:

v" | understand that | am participating in psychological research

v | understand that my identity will not be linked with my data and that all
information | provide will remain confidential

v" | understand that participation in research is voluntary. If | decide now or at any
point to withdraw this consent or stop participating, I am free to do so at no
penalty to myself

By voluntarily signing this form, | am stating that | am over 18 years of age and that |
understand the above information and consent to participate in this study.

Person to be contacted in case of any clarification/information:

Divya Dosaya

Research Investigator

Ph no: 7229993613 Signature of participant with

date Email: divyadosaya@gmail.com
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Ph no: 7229993613 fafr & @ gfdemh &
gEATER A divyadosaya@gmail.com

NAME /MATH:- e e e e

1. What class are you in/ 39 fbd D&l T g2

3. Are you female or male/ 1 310 TSP ATASHI §?  —eomemmemmemmeemmemen

4.School Name/ fAaTe@ 1| - e
5. Did you attend kindergarten/pre-primary school :-
HT 3 [hSTE / U-UreHR] ¥hdd T ariRaa femm o :-
(@) Yes _Eﬁ'
(b) No gl
6. Are you enrolled in any coaching/tuition class :-
HT 3T bt DI / R el § AHifhd § : -
(@) Yes _Eﬁ'
(b) No el
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I. MATHEMATICS / 3% XIRd:

Level 1/ ¥dX 1:

1.

Ramesh found out that the exchange rate between US dollars (USD) and Indian
rupees (INR) was:

1USD =70 INR

Ramesh changed 1100 US dollars into INR at this exchange rate. How much money
in Indian rupees did Ramesh get?

0L A g fo 3ARD! SIeR (USD) 3R YR ¥UT (INR) & o fafag R o
1USD =70 INR

Y A 39 fAfAHT 23 WR 1100 3MRPT SR &1 HR $UT H dd fear T
P HRAT »UT H fa T faem?

ANSWer/ ST

If a bus is travelling at a speed of 50km/hr for 1.5 hrs, what will be the distance
travelled by it?

i PIg o9 1.5 ¢ b foru 50 fopelt / ger B 1fd D A pr Q) 8, A IS9P gRI
T DI TS A AT NI

« 60km/ 60 TohHT
« 70km/ 70 T HT
« 75km/ 75fdp A

« 100km/ 100fdaHT

Level 2/ ¥dX 2:




1. | The diagram below illustrates a staircase with 14 steps and a total height of 252 cm.
What is the height of each of the 14 steps?
T fear o fot 14 B iR 252 A B ot SaTs & T TH Wi faara 8,14
TN T Y YD DI SHdls F 52
Total depth 400 cm
HEIGNY BoTTE & oo cm/ 4T,
2. | Sum of $2000 is to be distributed among P, Q, R, and S in the ratio 2:3:5:6
respectively. What is R’s share? _
SIER 2000 B! AR HUE: G, Y, 3R 3R T & &I 2:3; 5:6 b U § fdaRkd
DI ST 1 SR DT I38a1 71 82
a) $500/ 500 STci} b) $600/ 600 SI¢IR
c) $625/ 625 SIciX c) $650/650 SIelR

Level 3/¥dX 3:

1. | Anplastic box 1.5 m long, 1.25 m wide and 65 cm deep is to be made. It is open on
the top. Ignoring the thickness of the box, determine the area of the sheet required
to make the box. _

T @IREH ST 1.5 HIc ¢d, 1.25 HIcR ST SR 65 YHT T8 ST ST
g AN IR Gl g1 i DI HICTS Dl 3¢l HRd U, SR g1 & oY fva
HieR 2 Dl fTaRgehdl g
Answer/ 3TR:- ... HicUm |

2. | Preeti deposits an amount of Rs 35000 in a bank, at 5% per year simple interest.
What will _be he_:r total amount after 4 years?
Uil Teb b § 35000 TUY BT AT STHT DRl 8, Tord TR Ul 59 HILROT SATST
R AT 81 4 9Td 916G SYDb! i AR fberit gl |
* Rs.40000/ 40000 ¢




* Rs.42000/ 42000

* Rs.45000/ 45000 %

* Rs.50000/ 50000

Level 4/ ¥dX 4:

1.

During these 3 months, the exchange rate of USD and INR had changed from 70 to
2 INR.
Was it in Ramesh favour that the exchange rate now was 72 INR instead of 70

INR, when he changed his USD back to Indian rupees (Yes or No)?

29 3 HelMl & SR USD SR INR &1 faRma g3 70 A 72 INR H 9 T 2t

&1 U8 AW & Y& H o7 fd 3@ faf99d G2 70 INR & 91 72 INR 811 U, 59
I 307 USD DI YR ¥Ud H 9193 dad feam &1 a1 el

ANSWeEr ST

In a mixture of 60 litres, the ratio of milk and water 2 : 1. If this ratioisto be 1 : 2,
then the quantity of water to be further added is:

TS fH807 60 Tiex 3, foras g SR U &1 S1UTd 2: 1 8 Ife g8 SruTd 1: 287,
o1 O SIS ST aTed UTl b1 /=T gl

«20L /20 e}
«30L /30 A}
« 40L / 40 I}
« 60 L /60 TIcR

Level 5/ ¥dX 5:

1.

A documentary was broadcast about earthquakes and how often earthquakes occur.
It included a discussion about the predictability of earthquakes. A geologist stated:
“In the next twenty years, the chance that an earthquake will occur in Zed City is two
out of three”.
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Which of the following best reflects the meaning of the geologist’s statement?

YT & IR T T SlagcT TR @1 s ot 3R b IR Yy 3 31 394
YU Bt Hidwraroll & IR T =i miie At U Yfaeit 3 gl sl g ani 7,
ors Rict § ey 3 &1 Ju1a a9 8 9 &1 g1 FfaRad 3 9 o  yfasri &
DY DT 31 =TT 82

1) 2/3 x 20 = 13.3, so between 13 and 14 years from now there will be an earthquake
in Zed City. o
2/3x 20 = 13.3 §, ST 3(d ¥ 13 3R 14 I & o1 518 AR & YhT S|

2) 2/3 is more than %, so you can be sure there will be an earthquake in Zed City at
some time during the next 20 years.

2/3, 1/2 9 3P B, SARIT 31U I8 YT IR Tohd g b RIS 20 T b GRIMA
foh it Y TS Qe | HebU 31U

3) The likelihood that there will be an earthquake in Zed City at some time during
the next 20 years is higher than the likelihood of no earthquake.

TG | s 3Tl 20 Iuf & SRM fordt Wi S Ry & 4o SMee, YhuTa!
3T T FHIEGT D! g1 7 31 B

4) You cannot tell what will happen, because nobody can be sure when an
earthquake will occur.

31T ~Tg! &l Fobdl fob &A1 BRI, Hiifb Bls Ut Yeb U 31 & TLa= T b1 -Tg
& JDdl g

The diagram below shows the results of a Science test for two groups, labelled as
Group A and Group B. The mean score for Group A is 62.0 and the mean for Group
B is 64.5. Students pass this test when their score is 50 or above.

Hid QU 7Y 3IRW WYE(GROUP) T 3R JHG(GROUP) ol & &Y T dad fbU U
&l Tg! & fo1u U fag ulerur wR aRume fe@rar g1 9g ¢ & folu Siid @R
62.0 § 3R JHg ol & o1T 3N 64.5 31 B 3 WIan T Il gid & Sid 311
IR 50 AT I HfAH ST B
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Scores on a Science test

-

(2]
3
o
<

Number of students
o — N (F%] e o [=>]

0
10-19
20-29
30-39
50-59
60-69
70-79
80-89
90-100

Score

| B Group A O Group B ‘

Looking at the diagram, the teacher claims that Group B did better than Group A in
this test. The students in Group A don’t agree with their teacher. They try to
convince the teacher that Group B may not necessarily have done better. What could
be one of the reasons that group A students said this?

3R P ¢@d gU, e 1 g § fb Iug o 7 39 wWiem & 94 T ¥ 98
fobaT &1 THE A & B (U A& F WA 781 §1 d &b 1 U5 JHIIH Bl
DI B § [ TG o1 T8cR ol B THdl § 98 TP SHl A Dl fob 3]
R DR G Ghdl g2

(@) A fewer §tudents in Group A than in Group B passed the test.
g d§ § 9Yg Ul o1 8 o H ST Ual urg &l

(b) Less Group A students than Group B students scored 80 or over.

TG o1 & BT B g1 T THg U BT A 80 IT I 3H{eeh 3ich BRI by

(c) More students in Group A than in Group B passed the test.

I ol T g Tl g § 3MfAdh Sl = uRign I<iiof o1

(d) There was a major influence of outliers in group A.

g T H qTel afeR] bl Ueh Y elTd Tl

ANSWeEr/ ST

Level 6/ ¥dX 6:

\ 1 | A carpenter has 32 meters of timber and wants to make a border around a garden bed.
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He is considering the following designs for the garden bed.

U d¢g & U 32 HIR &l A el g 3R I8 U FIId & IRI 3R Th AHHT ST
ITedl g1 98 S & fore FHgfeiad oz iR faar &= a1

l |

- 10 m = < 10 m >

gl

Circle either “Yes” or “No” for each design to indicate whether the garden bed can be

made with 32 meters of timber.

32 Hiex gl & 1Y SIS 71 41, ot sl & fore Sugad €1 S a1 ) gfhd
SR T gl g1 el U feuiig & fore Sfid &

Garden bed design Using this design, can the garden bed be made with 32
metres of timber?

Design A Yes / No

Design B Yes / No

Design C Yes / No

Design D Yes / No

A horse is tied on one point of a right-angled triangle of sides 3m, 4m, 5m. The rope
is 7m long. There is grass everywhere except the triangle. What is the total area
where the horse will be able to graze?

T 9Ig I T JHBIU BHIYS D Yol b Uh fdg Wi Sare & 3 H, 441, 5
B8 1978 DI Sy DI 4T 7 1 el g1 BpIu ol BIgH: 83 oifle U g1 8
D & 1 g ORI oTST O T G&d grm?

a. 154sq. m/ 154 91 HIR
b. 148sq. m/ 148 1 Hiex
c. 150 sq. m/ 150 af Hiex




d. 155 sq. m/ 155 1 Hiex




11. SCIENCE/ lasm=

Level 1/ ¥dX 1:

1

Fishes have gills that help them breathe in water. Human beings have lungs that help
them breathe in air. Fishes can’t survive in the air and human beings, not in water.
Choose the correct statement on the basis of the above.

Aferdl # Taws 81d 3 Sl 3= UM & I a1 H Aee 33 81 9 & Bhs 8id ©
Sl 39 B4 H i - & Aee &Xd o | Haferl ga1 | 78! & Idbdlt MR 9 uHl |
T8l | SR b YR R gl Y- I |

a. The organisms having lungs only can’t survive in air and ones with gills can’t
survive in water.

$ad Bhs dId oiid gal | Siiidd el 38 I&d & 3R TAHs| did -1 | =gl
CERCI

b. The organisms having gills only can’t survive in air and ones with lungs can
survive in water.

fSrT Siidl 7 TS Bid § d dad gdl § g1 X8 Ybd g R 15D Bihg U
# Siifdd 38 Tehd B

c. The organisms having lungs can survive in air and ones with gills can survive in
water.

Blhs ald Siid gal H STifdd 38 Idd g SR A1 It # Siifdd 38 I&d g

d. The organisms having lungs only can’t survive in air and ones with gills can
survive in water.

$ad Bhs dld Siid gdl | Silfdd el 38 Jbd & AR TAHs| did g |
Sifdd 38 Tahd gl

Tobacco smoke is inhaled into the lungs. Tar from the smoke is deposited in the lungs
and this prevents the lungs from working properly. Which one of the following is a
function of the lungs?

ddT BT Ysii BWws! # ST g1 YU A TR BWs! # SHI Bl ST § IR U8 BHs! &
Sleb q B B A Acbll 8 1AM H A D 91 BHS BT D 87

a. To pump oxygenated blood to all parts of your body

3{TUdh IRR & 1 feai & SHieriloi ek Iokd I UY - o felw

b. To transfer some of the oxygen that you breathe to your blood
DS RIS oIl MY GG GRI A 8, TeT bl RIFIART B o felg

c. To purify your blood by reducing the carbon dioxide content to zero.

Xi




DI SIEIHRITSS DI AT Dl YA Db HUh I Dl Yk HRAI

d. To convert carbon dioxide molecules into oxygen molecules

Dla SISHIZS U3 BT RIS TS T I

Level 2/ ¥dX 2:

1.

If animals or humans become sick with an infectious bacterial disease and then
recover, the type of bacteria that caused the disease does not usually make them sick
again. What is the reason for this?

gl TR I1 S U IhHd daciNgl &t dHART I Uifsd 81 571d g 3iR fU
1P BISId &, Al 9T & UDHR Sl SIHRT BT HRUT Id §, d SHAR IR [ I
AR 781 BId & ISDT T HRUT 52

a. The body has killed all bacteria that may cause the same kind of disease

IRR A gt SFIRAT D1 AR 1301 8 Sl Th Bl kg DI SR BT HRU Gl b
gl

b. The body has made antibodies that kill this type of bacteria before they multiply

IRR A ST §91E § ST 38 UHR & SHam[3f & g¢- J gd AR S ¢ |

c. The red blood cells kill all bacteria that may cause the same kind of disease.

AT o HIRABTY 37t Siamupsit &7 aR it § S U & oRe &1 SaR) &
DR G Hhd g

d. The red blood cells capture and get rid of this type of bacteria from the body.

el Xk HIRABTY Dooll Hdl § SR IR W 37 YDHR & AT d GedhRI
I

What kinds of diseases can people be vaccinated against?

AN b1 fohg aRE &1 STt A ST S Ibdl 82

a. Inherited diseases like hemophilia.
SHIT I SIRfT =TI ST |

b. Diseases that are caused by viruses, like polio.
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T ST ARG B PRI B 8, o Tiferd |

c. Diseases from the malfunctioning of the body, like diabetes.

RN ! TR A B dlet AT, S AYAG |

d. Any sort of disease that has no cure.

fpat 1ft TR BT TR ST BIS 3ol e B

Level 3/ ¥d¥ 3:

1.

It is recommended that young children and old people, in particular, should be
vaccinated against influenza (flu), because:

g RGB! Sl g fob B Sl 3R §¢ ARl bl (AT =0 b, TUUSTT (%)) b
fore o1 v o1 e, i

a. These people have less resistance to getting sick or they have a weaker
immune system.

3 AN H SR 9 &1 UfoR1Y® &HdT HH il § a7 378 HHSIR UfaRer
PUIRIEGI

b. The young and old can fight off disease as easily as others.
gl 3R g GIRI DI A M ¥ IR 7S Fobd 5|

c. They are less Iike_ly to catch th_e flu
3% W B I HHTG HH G|
d. If they get the flu the effects are worse in these people.

3R 38 WL BRI al d 3% SR g1 S|

How many of the following statements are correct?

fFafafad & I o T a8 72

« Days and night are caused due to rotation

Yo & BRI 3 SR AT &

» Seasons are caused due to rotation

YU & SR HBIE el &

- Days and nights are caused due to revolution

Xili




ifd P DRI o AR AT B &

« Earth spins from West to East

Q! UfH 9 yd B 3R YAl 8

» Earth’s axis causes Seasons

T & 3 P HR BJE a7l ©
a. one/ TH
b. two/ Gl
c. three/ di-

d. four/dR

Level 4/ IdX 4:

1.

Some people use nicotine patches to help them to give up smoking. The patches are
put on the skin and release nicotine into the blood. This helps to relieve cravings and
withdrawal symptoms when people have stopped smoking.

To study the effectiveness of nicotine patches, a group of 100 smokers who want to

give up smoking is chosen randomly. The group is to be studied for six months. The
effectiveness of the nicotine patches is to be measured by finding out how many
people in the group have not resumed smoking by the end of the study.

Which one of the following is the best experimental design?

P AN YHUH Ble- | Hag D & (AT A U & I &d g1 U &1
AT TR AT ST § 3R 8 Wad § e Siadr g1 s ait # 47U &1 yad
5] 3R AUl & AU DI R H H Hag HRal 5

APIEH Ud B UGN BT ST D & [elT, 100 YHUT B dTall Dl Ub
g S YU SISl I18d ©, Pl Ylefwdd (RANDOMLY) FY I IHT 1T 5
g DI B8 HelH db T b1 SHT g1 MBI Ud & gHEiidar 98 Udl
T & fow A1dt St § fob JHg & fba arll 3 {8 & 3id ddb §Uu &1
fi T & el fbar 81

fFfRad 3 I D 91 9ad 3131 WA [Sol1g g2

a. All the people in the group wear the patches.

T8 & T+ A U9 ugH

Xiv




b. All wear patches except one person who tries to give up smoking without them.
i ART O U, T T Dl DISHR oIl 3 91 YHUTH B B HIRAA
RG]

c. People choose whether or not they will use patches to help give up smoking.

T YU Bl T Hag H1 & ol U ol SUINT B AT g1, SHb] o

A G

d. Halfare randomly chosen to use patches and the other half do not use them.
1Y AN BT U BT IULRT B & AU Fefwsh (RANDOMLY) =4 F AT
19 3R GER 1Y AN Ud &1 SULNT g X |

2. | Which of thg following statements is correct?

ffeiad 7 4 DI 91 By I3 52

a. Sound doesn’t need a medium to propagate, while li_ght does.
T @G DI ¢ & U U HIEH Dl SATGRGDhdl A1 Bidil 8, SIdih JbI &
fegeidt gl
b. Sound needs a medium to propagate and light too.
¢qf- DI g & o1 TP H1egH D1 IAHdI Bl & R UBIRI BT HI |
C. Sound needs a medium to propagate and light doesn’t.
@i BT gg & AT Th HIEH B SHTGRFhdl Bldl & 3R YbI & o Th
I B AT Hdl Tol ¢
d. Sound doesn’t need a medium to propagate and light too
W DI g & g vt A1 B Tyl g1 Bl § IR U1l & oy i
Te! |
Level 5/ X 5:
1. | The greenhouse effect:

Living things need the energy to survive. The energy that sustains life on the Earth
comes from the Sun, which radiates energy into space because it is so hot. A tiny
proportion of this energy reaches the Earth. The Earth’s atmosphere acts like a
protective blanket over the surface of our planet, preventing the variations in
temperature that would exist in an airless world.
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Most of the radiated energy coming from the Sun passes through the Earth’s
atmosphere. The Earth absorbs some of this energy, and some are reflected from the
Earth’s surface. Part of this reflected energy is absorbed by the atmosphere.

As a result of this, the average temperature above the Earth’s surface is higher than it
would be if there was no atmosphere. The Earth’s atmosphere has the same effect as
a greenhouse, hence the term greenhouse effect.

The greenhouse effect is said to have become more pronounced during the twentieth
century.

It is a fact that the average temperature of the Earth’s atmosphere has increased. In
newspapers and periodicals, the increased carbon dioxide emission is often stated as
the main source of the temperature rise in the twentieth century.

PSS UHTG: T gl HedT?

Siifdd sl DI Siifdd Ig4 & el Sl ol STa=gehdl gidl g1 Jdl IR Sila & foiy
Sott g 31T B, S ol BT Siafer & Aokl § i a8 9gd T 81 59 Sholl
D1 U Bl G gedl db Ugddl g1 Jdl &1 IdieRvl 89R U8 $! dag W Th
YRETHD Had DI IR P B g, MG dTad H {1 DI b ST Jobal §

STl Ueb argg 1A gfan & Hisfe g

T T S areht Sifdw i fafafor Soif gedt & argHsd § g TRt g1 gl
29 SHoll § A $© B SNV HRdl 8, R o Gd! di Fdg I 9199 GRIdidd
gl g | 39 Wialdd 3ol &1 U BT aIgHSd gRT SaN¥d g gl

P TRUTRGRY 3l Bt G J SHUR BT 3Nd d19HH 399 31 g g afe
DIy IYHSA 51 g 81 Tt F IRgHSd BT U & TH UHE 8, 39ferg
YB3 U YIRHITNS Ued €1 el SITdl § b WHe13w Uy a1 gdl 2disd! &
AR IATRA g1 -7 UT|

g Uh a ¢ b gedl & digHed Bl 3M¥d di9d d¢l g1 JHRR Ul 3R
g®13T & d¢ gU bld SIS 3RILs Il Bl SR didl Ydlsal & arud= &
3G &1 4B HId el ol g

Q1. What are CFCs (just writ(_e the full form).

oo &1 g (quf & ford)

Q2. Do they lead to the greenhouse effect (Yes or No)?

R d YHEI3T YHTd Dl Aded B o (81 T -Tg1)?
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Q3. Can Moon have the greenhouse effect like Earth (Yes or No)?

AT AT BT UGS YHT Gdl Bl aRg ol bl § (81T -gh)?

Level 6/ ¥dX 6:

1.

Stickleback Behaviour:

During breeding time, if the male stickleback sees a female, he will try to attract the
female with courtship behavior that looks like a little dance. In an experiment, this
courtship behavior is investigated.

Here, three wax models on a piece of wire are used. One is red-colored; two are
silver-colored with one having a flat belly and the other a round belly. The student
counts the number of times (in a given amount of time) that the male stickleback
reacts to each model by showing courtship behavior.

The results of this experiment are shown below.

RePddD (TP UBHR B DI ASd]) HIBR:

TS & THT & SR, e R R haad o) Uh Higl feaTs S ¥ N ag W oI
I G JH1AY AR & A1 HIeT Dl biNd B B DRI Hll| Th
TN, 39 UHICY agR D1 Siid &1 Sl g |

g, AR & Uh gohs R dIF HIF HiSd 1 IGANT fbdT STl 81 Teh Tl I 1 g;
& ISl & [ H B ¢ o8 F U qUTe Uc 3R gIRT U Td U¢ gIdl g1 BE
GRT R Redhetdd & UMY FdgR I Udd Higd W g1 drdl uldfshar (G5
D! HUH g20Ts 75 §) DI TS |

= 7 & R 1 e e g

Number of times male
shows courtship
behaviour

30

is

o]

53 CJ’L;?% @J’;f?%

[ Red-coloured
Silver-coloured
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Three students each draw a conclusion based on the results of this experiment. Are
their conclusions correct according to the information given in the graph? Circle
“Yes” or “No” for each conclusion.

A B 39 ¢8R UORT o GRUMHT &b SMTYR R [shy Habierd 81 /1 39 fAspy
U T 1 T8 STHHRI & SR el 62 Udd 5hY & [og "gI* g1 g™ U= el
2y

Is this conclusion correct according to the a. Yes/ @l
information in the graph?
b. No/Al

U T THGR! b IR H1 I8 sy Tg! 87
The red colour causes courtship behaviour by the a. Yes/ _E!\T'
male stickleback.
e W R REDhdAdD gRI YHIAT HAGR Bl b. No/T
DR T |
A flat-bellied female stickleback causes most a. Yes/ Bl
courtship behavior from a stickleback male.

@I Jule U, Th R b. No/AT
T@wé?ﬁ 3 SffYpiRId: YA UdgR Pl
DR T |
The male stickleback shows courtship behaviour a. Yes/Bl
more often to a round-bellied female than to a
flat-bellied female. b. No/T
R EHAdP, YU U drdt Ael REbaddd
@t g § U e Uc drell HieT Dl YHTay
FAER 3P IR QT 3|
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APPENDIX -B
INFORMED CONSENT FORM

BIRLA INSTITUTE OF TECHNOLOGY AND SCIENCE
DEPARTMENT OF HUMANITIES AND SOCIAL SCIENCE

Investigator: Miss Divya Dosaya, Doctoral Student, Dept. Of HSS, BITS Pilani,
Rajasthan

In order to participate in this research study, it is necessary that you give your informed
consent. By signing this informed consent statement, you are indicating that you
understand the nature of the research study, your role in that research, and that you agree
to participate in the research.

When filling out questionnaires or answering the questions asked, you may come across a
question or answer choice that you find unpleasant, upsetting or otherwise objectionable.
You may also feel that you have performed poorly, but there are no right or wrong
answers. We seek your honest responses to the questions. Your identity and responses
will be kept strictly confidential and will be used for research purposes only. You will not
reap any direct benefit from participating in the study, however, your participation will
contribute to research.

Please consider the following points before signing:

vl understand that | am participating in psychological research

v | understand that my identity will not be linked with my data and that all
information | provide will remain confidential

v" | understand that participation in research is voluntary. If | decide now or at any
point to withdraw this consent or stop participating, | am free to do so at no
penalty to myself

By voluntarily signing this form, | am stating that | am over 18 years of age and that |
understand the above information and consent to participate in this study.

Person to be contacted in case of any clarification/information:
Divya Dosaya
Research Investigator

Signature of participant with date
Email: divyadosaya@gmail.com
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1. Name/ T (optional/ 3 fodeh)
2. Gender/ folaT : Male /989 [ Female /ATgelT (] Other /375 [

3. Age /3TTY:

6. Name of the school/ faGaTerd & oATH:
7. Job designation/ sileAsT JGaTTe:

8. Number of years of service / TdT & ay :
9. Email id/ § &eT;

10. Annual Income/ AT 37T:

11. Highest Degree/ 3Tad# f33fT: Bachelors/ &ITdeh [ Masters/ G [

Others:
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APPENDIX-C

INTERVIEW SCHEDULE

Q1. Do you think the teaching profession enjoys the same status as other professions like

doctors, lawyers, etc.?

Q2. How often do you participate in professional development activities? Do your school
and the authorities grant you the freedom, resources, and leaves needed to participate in

them?

Q3. Do you think that teachers having more experience and higher income are more

professional? What do you think about the professional practice of young teachers?

Q4. Do you think that the training programs equipped you well enough for actual
teaching practice? What changes in the training curriculum do you think are needed to

enhance the status of the profession?
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